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def F(n): B
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def F(n):

return F(n-1)+F(n-2) Iil=:F%_14_P%_2
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def F(n):

return F(n-1)+F(n-2) Iil=:F%_14_P%_2

X = F(5)
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def F(n):

return F(n-1)+F(n-2) Iil=:F%_14_P%_2

X = F(5)
F(5) => return F(4)+F(3)
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a8 lga1 |y F(5) aS Loy [
def F(n):

return F(n-1)+F(n-2) Iil=:F%_14.P%_2

X = F(5)
F(5) => return F(4)+F(3)
F(4) => return F(3)+F(2)
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def F(n): P _F s
return F(n-1)+F(n-2) n=LTp_1T

X = F(5)

F(5) => return F(4)+F(3)
F(4) => return F(3)+F(2)
F(3) => return F(2)+F (1)
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def F(n): F = F r
return F(n-1)+F(n-2) n= -1+ 'y
X = F(5)

F(5) => return F(4)+F(3)
F(4) => return F(3)+F(2)
F(3) => return F(2)+F (1)
F(2) => return F(1)+F(0)
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def F(n): F—F F
return F(n-1)+F(n-2) n = Fn1 T Fps
X = F(5)

F(5) => return F(4)+F(3)
F(4) => return F(3)+F(2)
F(3) => return F(2)+F (1)
F(2) => return F(1)+F(0)
F(l) => return F(0)+F(-1)
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def F(n): B
Fn_Fn—1+Fn—2

return F(n-1)+F(n-2)
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SEGRERTRY

def F(n):

if n <= 2:

Fnan—l_l_Fn—Z

return F(n-1)+F(n-2)
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SEGRERTRY

def F(n):

if n <= 2:

Fnan—l_l_Fn—Z

return 1
return F(n-1)+F(n-2)
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def F(n):
if n <= 2:

121=:]Zr4_+5ﬁk—2

return 1
return F(n-1)+F(n-2)
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def F(n):
if n <= 2: 1iz==1ir4,+’Pk—2
return 1

return F(n-1)+F(n-2)

X = F(5)

F(5) => return F(4)+F(3)
F(4) => return F(3)+F(2)
F(3) => return F(2)+F(1)
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def F(n):
if n <= 2: 1iz==1ir4,+’Pk—2
return 1

return F(n-1)+F(n-2)

X = F(5)

F(5) => return F(4)+F(3)
F(4) => return F(3)+F(2)
F(3) => return F(2)+F(1)
F(2) => return 1

F(l) => return 1
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def draw(size):
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def draw(size):

forward(size/3)
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def draw(size):
forward(size/3)
left (60) \ Y ¥ O
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def draw(size):
forward(size/3)
left(60) \ v £ 5
forward(size/3)
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def draw(size):
forward(size/3)
left (60) \ v e 5
forward(size/3)
right(120)
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def draw(size):
forward(size/3)
left (60) \ Y A
forward(size/3)
right(120)

forward(size/3)
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def draw(size):
forward(size/3)
left (60) \ v £ 5
forward(size/3)
right(120)
forward(size/3)
left(60)
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def draw(size):

forward(size/3)
left (60)
forward(size/3)
right(120)
forward(size/3)
left(60)
forward(size/3)
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Gy Jtuw,s B

def draw(size):

forward(size/3)
left(60)
forward(size/3)
right(120)
forward(size/3)
left(60)
forward(size/3)
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Gy Jtuw,s B

def draw(size):
draw(size/3)
left (60)
draw(size/3)
right(120)
draw(size/3)
left (60)
draw(size/3)
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Gy Jtuw,s B

def draw(size, level):

draw(size/3)
left(60)
draw(size/3)
right(120)
draw(size/3)
left(60)
draw(size/3)
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def draw(size, level):
1if level==0:

draw(size/3)
left(60)
draw(size/3)
right(120)
draw(size/3)
left(60)
draw(size/3)
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Gy Jtuw,s B

def draw(size, level):
1if level==0:
forward(size)

draw(size/3)
left(60)
draw(size/3)
right(120)
draw(size/3)
left(60)
draw(size/3)
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Gy Jtuw,s B

def draw(size, level):
1if level==0:
forward(size)
return
draw(size/3)
left(60)
draw(size/3)
right(120)
draw(size/3)
left(60)
draw(size/3)
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def draw(size, level):

1if level==0:
forward(size)
return

draw(size/3, level-1)

left(60)

draw(size/3, level-1)

right (120)

draw(size/3, level-1)

left(60)

draw(size/3, level-1)
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Sierpinski ow, 22U |
def draw(a, b, c):
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Sierpinski ow, 22U |

def draw(a, b, c):

draw(a, ab, ac)




Sierpinski ow, 22U |

def draw(a, b, c):

draw(a, ab, ac)
draw(ab, b, bc)
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Sierpinski o), 22U [

def draw(a, b, c):
draw(a, ab, ac)
draw(ab, b, bc)
draw(ac, bc, c)




Sierpinski ow, 22U |

def draw(a, b, c): 3

draw(a, ab, ac)
draw(ab, b, bc)

draw(ac, bc, c)
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Sierpinski ow, 22U |

def draw(a, b, c): 3
ab = ((a[0]+b[0])/2, (a[l]+b[1])/2))

draw(a, ab, ac)
draw(ab, b, bc)

draw(ac, bc, c)
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Sierpinski ow, 22U |

def draw(a, b, c):
ab = ((a[0]+b[0]1)/2, (a[l]l+b[1])/2))
ac = ((a[0]+c[0]1)/2, (a[l]l+c[l])/2))

draw(a, ab, ac)

draw(ab, b, bc)

draw(ac, bc, c)
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def draw(a, b, c):
ab = ((a[0]+b][0
ac = ((a[0]+c][O0
bc = ((b[0]+c][O0
draw(a, ab, ac)
draw(ab, b, bc)

draw(ac, bc, c)

)/2, (a[l]+b[1])/2))
)/2, (a[ll+c[1])/2))
)/2, (b[1l]+c[1])/2))
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def draw(a, b, ¢, level):

ab = ((a[0]+b[0])/2, (a[l]+b[1])/2))
ac = ((a[0]+c[0])/2, (a[l]l+c[1l])/2))
bc = ((b[0]+c[0])/2, (b[1l]+c[1])/2))
draw(a, ab, ac)
draw(ab, b, bc)

draw(ac, bc, c¢)
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def draw(a, b, ¢, level):

if level==0:

ab = ((a[0]+b[0])/2, (a[l]+b[1])/2))
ac = ((a[0]+c[0])/2, (a[l]l+c[1l])/2))
bc = ((b[0]+c[0])/2, (b[1l]+c[1])/2))
draw(a, ab, ac)
draw(ab, b, bc)

draw(ac, bc, c¢)
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def draw(a, b, ¢, level):

if level==0:

line(a, b)

line(a, c)

line(b, c¢)

return
ab = ((a[0]+b[0])/2, (a[l]+b[1])/2))
ac = ((a[0]+c[0])/2, (a[l]l+c[1l])/2))
bc = ((b[0]+c[0])/2, (b[1l]+c[1])/2))
draw(a, ab, ac)
draw(ab, b, bc)

draw(ac, bc, c¢)
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Sierpinski ow, 22U |

def draw(a, b, ¢, level):

if level==0:

line(a, b)

line(a, c)

line(b, c¢)

return
ab = ((a[0]+b[0])/2, (a[l]+b[1])/2))
ac = ((a[0]+c[0])/2, (a[l]l+c[1l])/2))
bc = ((b[0]+c[0])/2, (b[1l]+c[1])/2))
draw(a, ab, ac, level-1)
draw(ab, b, bc, level-1)

draw(ac, bc, c, level-1)
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for 1 1n range(8):
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500 (seWiSil> (gaon US> i ‘olf -

for 1 1n range(8):

for j in range(8):
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500 (seWiSil> (gaon US> i ‘olf -

for 11 in range(8):
for 12 1in range(8):
for 13 1in range(8):
for 14 in range(8):
for 15 in range(8):
for 16 1in range(8):
for 17 in range(8):

for 18 i1n range(8):
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500 (seWiSil> (gaon US> i ‘olf -

for 11 in range(8):
for 12 1in range(8):
for 13 1in range(8):
for 14 in range(8):
for 15 in range(8):
for 16 in range(8):
for 17 i1n range(8):
for 18 i1n range(8):
if 11 != 12 and 11 != 13 and..

olZiols
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def find(row):

for 1 i1n range(8):
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GiSib 26 :d> o,

def find(row):
for 1 i1n range(8):

i1f not col[1i]:
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GiSib 26 :d> o,

def find(row):
for 1 i1n range(8):
if not col[1i]:
queens[row] = 1

col[i] = True
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GiSib 26 :d> o,

def find(row):
for 1 i1n range(8):
if not col[1i]:
queens[row] = 1
col[i] = True
find(row+l)
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GiSib 26 :d> o,

def find(row):
for 1 i1n range(8):
i1f not col[1]:
queens[row] = 1
col[i] = True
find(row+l)

col[1] = False
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GiSib 26 :d> o,

def find(row):

for 1 in range(8):
i1f not col[1]:
queens[row] = 1
col[i] = True
find(row+l)
col[1] = False
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GiSib 26 :d> o,

def find(row):
1f row ==
print (queens)
return
for 1 in range(8):
i1f not col[1]:
queens[row] = 1
col[i] = True
find(row+l)
col[1] = False
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def find(row):

1f row ==

print solution(queens)

return
for 1 i1n range(8):

if put(row, 1):

find(row+1l)

pick(row, 1)
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def put(r, c):
if col[c] or diagl[r+c] or diag2[r-c+7]:

return False

oSl
‘-é:’_ s



GiSib 26 :d> o,

def put(r, c):
if col[c] or diagl[r+c] or diag2[r-c+7]:
return False
col[c] = diagl[r+c] = diag2[r-c+7] = True

queens|[r] = C
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GiSib 26 :d> o,

def put(r, c):
if col[c] or diagl[r+c] or diag2[r-c+7]:

return False

col[c] = diagl[r+c] diag2[r-c+7] True

queens|[r] = C

def pick(r, c):

col[c] = diagl[r+c] diag2[r-c+7] = False
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